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309 H&3 1,000 600 400
02 ZRAUAIVATUINTES 1,000 600 400
OBLARA ot 8 X2 £S2 1,000,008 1,000
TR AlY 37,550 37,450 100
201 Yot FH| 6,300 6,300 0
01 AL 2rel bl 6,300 6,300 0
O4FANOIA L 88X 7Y 9,002 * 50004 4,500




EAREPAPNE= RS0

M IYEBI 84
Sl XN 54 =X B (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Ocszed UM
100,000& * 19¥ = 12& 1,200
OZao dote HA AIN XA
100,000& * 69 600
303 A2 31,250 31,150 100
01 ZAa2 31,250 31,150 100
O 2323 A4 50,000& =* 259 1,250
O24+TZLY UK A8 500,008 * 602 30,000
SE& HSHAM 58,860 47,295 11,565
201 L2 Y| 50,460 38,895 11,565
01 At 22l Yl 41,460 38,895 2,565
Oos48= a8 stotg sH =& 8,800
-2 AlH| 3,000& = 800 2,400
-= 4l Hl 8,000&  800Y 6,400
O - ANz 32& MsU3 &It 27,200
&It 2= I =shl 100,000& * 1509 15,000
-l = ZAH| 8,000& * 150 = 7 8,400
- AP =& H| 3,800,000 3,800
OFJAZE stors MU =t 5,460
&It I =hl 100,000& = 359 3,500
-2t = 24| 8,000& * 35H * 7 1,960
03 S AIS H I 9,000 0 9,000
Os48z 33X stots sH F=&|
9,000,000& 9,000
202 04t 7,200 7,200 0]
01 2LHOHI 7,200 7,200 0
OF - A2 Z22¢ M=sUa I o]
7,200,000 7,200
303 A2 1,200 1,200 0
01 ZAZ 1,200 1,200 0
OX N EXMUE MU L&z 1,200
-5 500,000& * 1& 500
-ERS 300,000& * 1& 300
-3,4% 200,000& = 28 400
A2 29 33,140 36,640 A 3,500
201 Ypte | 9,740 9,740 0
01 At 22l Yl 9,740 9,740 0
Oogxa 29z 2,300
A2 NE 800,000& 800
-A2F 7 1,500,000& 1,500
OHAEX =2 4,200




R PPN = RSy
HE: NYZeE S4
ool MY M =X 5T CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-NgaEd 3,000& * 208 = 12& 720
APNE=RS 6,000& * 202 » 12& 1,440
RPNR=IPNDN 6,000& * 209 = 12& 1,440
- A2 2,500& * 202 » 12& 600
Oo=J 7¢ 3,240
“EAHEE I 7Y
50,000& = 1201 = 35 1,800
-2 ALE I 26,0003 * 4000 ~ 68 1,440
307 21201 A 23,400 23,400 0
05 BIZERIE 3 23,400 23,400 0
OZ&E AL 221ZH AlAE 1,950,0008 128 23,400
wnEsd 317,000 317,000 0
A s38 g 317,000 317,000 0
201 £B-2dH| 137,000 137,000 0
01 At 22l 137,000 137,000 0
O3%& 1= A= 80,000,000& 80,000
Ou=sg2=a M=l 2,000,000& 2,000
OBMZHUS(SS LA 5,000,000& 5,000
OXJ A L3 /S 50,000, 000& 50,000
202 (44l 180,000 180,000 0
05 B2 s 180,000 180,000 0
O32% W0l (POOL) 180,000, 000& 180,000
R SAH -3t 331,604 302,299 29,305
= 25,744
= 21,000
s 284,860
A& SAH XA 331,604 302,299 29,305
= 25,744
= 21,000
s 284,860
AN SAHEE 2tel 210,116 185,427 24,689
201 Let249] 1,100 1,100 0
01 At 22l 1,100 1,100 0
ORE NIASAA SN M
100,000& * 114 1,100
301 et A=z 1,050 840 210
MIEE43 1,050 840 210
OXZSAEEH 22Xt B SE4
70,000& * 5% « 33 1,050
303 &3 1,000 1,000 0
01 L& = 1,000 1,000 0




AN XX HE D
M GESA 243
&2 HESA X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXNESAES 2= SH Z&3 1,000
X R 500,000& » 185 500
-2 = 300,000& » 15 300
- o 200,000& » 158¢ 200
307 21201 A 206,966 182,087 24,879
10 M2 SXNANEHE2IHEX 183,966 165,087 18,879
Os48= NASAEEH 2948l 183,966,000& 183,966
11T MISXASEX 23,000 17,000 6,000
Of= SALL X & 9,000,000& 9,000
OXNISALAL 842 HHal 14,000, 000& 14,000
ANz GRS AEEH SAHES XA 70,000 70,000 0
< 21,000
s 49,000
307 glz2tol & 70,000 70,000 0
< 21,000
s 49,000
11T M Z2XAISE EX 70,000 70,000 0
OANZTHASAHE SMEs X
70,000,000& 70,000
= 21,000
s 49,000
AEASAES S (AlT) 46,894 42,056 4,838
= 23,447
s 23,447
307 gl2tol & 46,894 42,056 4,838
= 23,447
[ia 23,447
11T M SXAISE EX 46,894 42,056 4,838
OX&SAtA 2O U0l XI& 46,894,000 46,894
= 23,447
[ia 23,447
ANESMEHES THSAL BEEZ(AZ) 4,594 4,816 N 222
= 2,297
e 2,297
307 glz2+ol & 4,594 4,816 N 222
= 2,297
s 2,297
11T MISRASEX 4,594 4,816 A 222
OXNESAL 282 X 4,594,000 4,594
= 2,297
s 2,297
SARREH EE 6,120 6,120 0
LxgR XA 6,120 6,120 0
CEYRXE 6,120 6,120 0




SH: R D
Za S AR BE

ol Lxee X CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 Le-2d| 6,120 6,120 0
01 At 22l 5,100 5,100 0
OSULE2RAN H22Y 300,000& » 12& 3,600
OZF3HH g2=& HM=&Hl 1,500,000& 1,500
02 3323l 1,020 1,020 0
O AZCIERAE MOIE OIEE
85,000& » 123 1,020
dEs & BESA AF L3t 5,187,874 3,304,956 1,882,918
= 7,931
< 347,760
[ia 4,832,183
FESANE2S 1,564,452 1,138,747 425,705
= 7,931
i 1,556,521
HaEdg 2 Ay 2el 875,994 687,053 188,941
201 2et24d] 290,214 268,046 22,168
01 At 2teltl 12,660 23,792 211,132
OSMEXN 2L 50,0003 = 32A « 128 1,800
OZFESHA A gz
400,000& * 10H » 12& 4,800
OFESHa =&l 1,000, 000& 1,000
OZHOIX =el&el MHA 0l8R=
170,000& * 12& 2,040
ORogALgEF 4225 F2¢ 3,020
-SAEHEX 55,0002 » 20 A 1,100
-dIOIdESH A23 320,000& = 6K 1,920
02 3323l 277,554 244,254 33,300
OZcl0IHE IIESIAHRRE >
250,000& = 123 3,000
OZFEstusz ZHl RAE=
420,000& = 123 5,040
OZHOIX ZAMAR S E=H]
715,000& = 42 D] 2,860
O&=2 2 2lsA MHAMAE RAES
700,000& = 7CH 4,900
ORENMHRIAEIX RANE=  450,0008 128 5,400
ogeagsll SN2 310,000& = 12& 3,720
OPCEHATERNH RAE=>
300,000& = 12& 3,600
ousBEotaz] AZEYNH AL
242,000& » 12& 2,904
OREPC HUEHZES ATEY0 SAL4
920,000& = 12& 11,040
OS8d BNUA ERBRIANAY ATES 0
A2 369,000& = 12& 4,428
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R PPN = RSy
[u]

HE: HEE U RSN AY L
el HEsAASY CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OB ot AlIAE FHE SANES
4,650,000& * 14 4,650
OAMNAH SEHF2EIAAHE SXNE=
3,850,000& =« 24! 7,700
ONHEQAAZEYN RANES
500,000& =« 74l 3,500
Odgsty U & HOAAH S22
400,000& = 123 4,800
OEHEZAN2E ATEN RAE=>
500,000& = 12& 6,000
OMSHAM AIAE SXE =
150,000& * 12& 1,800
OMSdEAMAE SSO RAE=
2,000,000& = 14 2,000
OXtsrzte] & WX 2elAlAE SXNE=
380,000& = 123 4,560
O2UetAla" |SARE=+=  2,050,000& = 128 24,600
OADNEOEY RANE= 5,000,000& = 14 5,000
OZXJA+=HY KRAE= 1,700,000 * 14 1,700
OANZRHEEHEAAE 2 Jtast AIAE J|X
=l 10,800,000& * 12& 129,600
OQHYWANH & HRZ2IHMH HAAIAE FX
2= 700,000&  12& 8,400
ORoplaggdE? FAES
150,000& = 124! » 12& 21,600
OF2RHANLE SXNE+
4,752,000 = 14 4,752
202 o4dl 10,620 9,620 1,000
01 = LH o4 1l 10,620 9,620 1,000
Oda2E HEFE Kl 10,620, 000& 10,620
207 A RO H| 270,000 140,000 130,000
02 ™A 2] 270,000 140,000 130,000
OZHOIX SeHE & 2EH= HEAS
150,000,000 * 14| 150,000
OYOole 24 29 60,000,000& 22 120,000
308 XXM S0 A 94,160 96,303 A2,143
1037/ 2S0HUHSBAEAEALS I 94,160 96,303 AN2,143
O=2LietAl A8 KA ASEFEAS
9,000,000& 9,000
OZEIIBAAY SN ssetsora
79,000,000& = 14 79,000
OZEINWAAY MHIAHAD 29 9428
o=z 6,160,000& = 14 6,160
405 XHobF S HI 211,000 173,084 37,916
01 XY 2 ZFH S| 211,000 173,084 37,916




R PPN = RSy
[u]

B ¥os U RSN Ay Ys
o FESANEEY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ok sy zdl wx 85,000,000& * 14 85,000
ORooraggaEs £ 25,000,000& * 204 50,000
ONMH AlIZSJIa AIAE RS
17,500,000& * 14 17,500
OYe HEctoldA EHl wX
48,000,000& = 14 48,000
OZWUZ2FANEZAAD A7 ¢
1,500,000& * 70H 10,500
ARE AZTEHNH 22| 154,250 236,266 A 82,016
201 Let24d] 69,850 172,916 A 103,066
01 At 22/l 69,850 172,916 A 103,066
OgeE 2ZEYH Y 69,850
-0|0IX BHE Z2 ) o2t 0lE2
460,000& = 30= 13,800
-& OI0IXl CIAtel S8 IH2IX
1,050,000& * 12 1,050
-2-Uect J1g AT EN PO (& A XX
|42) 110,000& * 5002 55,000
207 A RO & H| 84,400 63,350 21,050
02 & AR b 84,400 63,350 21,050
OHiolefA YAl ALEXS A
18,500& * 1,000 18,500
OMHE sialZ2 8 HAl 450,000& * 452 20,250
OZHOolXI2ctel saTZ e 4l
6,500,000& * 1= 6,500
Odioled A Al OOl E 2e|l AIAE Al
2,500,000& * 12 2,500
OZHOIXl DB 253 &4 0K
14,000,000& * 12 14,000
OZMHOIXlI 2IEE 2ot &2 & F0H
22,650,000 * 12 22,650
FEstNE 2F 148,460 28,480 119,980
201 L2l 8,220 6,480 1,740
01 At 2t 2l 8,220 6,480 1,740
OF=Estussd 2257Y 1,500
=&, 2 FE3W=EE 600,000& * 2004 1,200
-t E2stusE 300,000& * 10HA 300
O¥EstuE WML 6,720
=% .2 23 uUsE
8,000& = 303 * 113 ~ 2)H 5,280
-t E2stusE 8,000& = 30& = 6& 1,440
207 A RO 11,320 0 11,320
02 & AR I 11,320 0 11,320




2N

B ¥os U RSN Ay Ys
oo BEsAYSY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ol =0FZ3 W= ISAY
11,320,000 * 14 11,320
301 g2 4= 36,240 22,000 14,240
1M1IIEBESS 36,240 22,000 14,240
OF2UEZs nsAY 2A+=2  36,240,000& 36,240
401 Al HIZ 201 8] 4,500 0 4,500
01 A& HI 4,500 0 4,500
Ol FPFBJWEE UWERHNID 5
4,500,000& * 14 4,500
405 XH&HE S HI 88,180 0 88,180
01 et EZFH S 88,180 0 88,180
Ootia =e¥2s sy 25+ 88,180
—UEE 29 AW 14,000,000& * 12 14,000
“HERZR A/AX A2 3,100,000& = 20H 6,200
- 2 ARAX 2 1,400,000 + 10K 1,400
-1=EPC 1,290,000 * 31CH 39,990
RSPANTAS, 4,500,000& = 14 4,500
g EZ ME 4,000,000& « 1CH 4,000
-HIEZAEHE A3d 500,000& =« 14 500
-ZofZely 1,000,000& * 1CH 1,000
—ZARE & 450,000& = 14 450
-2 AL Xt 190,000& * 12K 190
- A 300,000 * 30H 9,000
—=2d oI Xt 180,000& * 30K 5,400
-HE 700,000& * 1K 700
=g 600,000& = 1K 600
- X 250,000& = 104 250
NZTHIHBAAY =5 ZYl DA(2F) 28,668 28,668 0
= 7,931
[ 20,737
201 L2l 28,668 28,668 0
= 7,931
e 20,737
01 At 22l 28,668 28,668 0
ONZTRHIZIZANAE “SEH wH
28,667,720 28,668
= 7,931
[ia 20,737
NHEES 2tel 2,480 2,480 0
201 L2l 2,000 2,000 0
01 At 22l 2,000 2,000 0
ONEEES WK (ZAHl) 500,000& » 23| 1,000




R PPN = RSy
HE: HEE U RSN AY L
el HEsAASY CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONelEEES 82 HMA(EYL 2EH S)
1,000, 000& 1,000
202 O4dl 480 480 0
01 = LH 4 Hi 480 480 0
OMeIZEES XMel A 3 ol
480,000& 480
NZREHFEAAE &5 ZHl LM (KHA) 230,000 70,000 160,000
403 A X EHHS =0l A 230,000 70,000 160,000
02 SO 2SOIlCHeH A2 X 2 & A I 230,000 70,000 160,000
OZSJIE2 AIAE = AHAH DA
230,000,000 230,000
24 3238 N 124,600 85,800 38,800
405 TtakF S| 124,600 85,800 38,800
01 AL EFH S 124,600 85,800 38,800
OMerEzd=H XM= 1,000,000& = 11004 110,000
OMel8ZFH 2ULHTY  300,000& = 10CH 3,000
OZglg+g 1,000,000& = 5CH 5,000
OzdTgg+x¢ 3,300,000& * 2CH 6,600
FESHN 2 1,831,032 756,600 1,074,432
< 78,000
e 1,753,032
s& 2 22 337,351 350,939 A 13,588
201 24l 182,391 180,979 1,412
01 At 2t 2l 8,950 14,850 25,900
OEESHY 228 +2 2,850
-UTPAI 01 2 120,000& * 102fA 1,200
-LANE 25 X 35,0003 » 10 A 350
-=¢ 150,000& * 42A 600
SN Y 700,000& * 14 700
OREMMIAEX BHEH2I A
75,0002 * 1694 * 400 A 4,800
OAEdTAIE TSI 1,000
-gEk=s 100,000& + 49 400
-otM of 150,000& * 49 600
OANESEHBAE 222 (EMN) 7L
300,000& = 14 300
02 =24l 173,441 166, 129 7,312
OdF M3 AILHEE sz
24,0003 = 3934 + 128 11,232
OFUE 2SI (M) =2
18& * 60,0004 = 12& 12,960
O=UE AEZ 5,520
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AN XX HE D
B ¥os U RSN Ay Ys
& FE2Sd 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A== 65,000& = 4CH = 12& 3,120
-ArB = 50,0003 = 404 ~ 123 2,400
Ogetdst 3 6,264
2= 3,000& * 243/ & * 12& 864
=SUss= 100,000& * 12& 1,200
-OlssdAE= 200,000& = 12& 2,400
-JIEtAE R 150,000& * 128 1,800
OAMIEAE HI| FESUILE 850
-detsldz 5,0008 * 234 x 108 x 5Y 500
-l g 35,000& * 102 350
OfId&sI AEZ 3,360
A== 15,000& = 8CH = 12& 1,440
-ArB = 20,0003 = 804 » 123 1,920
Ol dEsE HUINEZE
350,000& = 123 4,200
OHUYHES AME 23 64,536
2= 528,000& = 123 6,336
=Usst=z 1,500,000& * 12& 18,000
-OlssdAE= 3,200,000& = 12& 38,400
-JIEt MEZ 150,000& * 12& 1,800
OPC 1Y 3= 350008 = 13/4& = 128 420
OFuwadl & ds)| RAESZE
25,150,000& » 14 25,150
OsdAAE |RXE+=  11,925,0008 * 14 11,925
OZFESLISAL AHEXH A CIJAHRAIAEH S
X gl 1,278,000& * 14 1,278
OZASIANAE SRARE=2 550,0008 » 14 550
OXEAM XRSOIME sldz
33,000& * 1314 = 128 396
OoHY sl &z 12,000
SEUsHE 600,000 = 13l& = 128 7,200
-HAwsE 600,000& = 1314 + 83 4,800
OFUEaE=Z2 KA 5,000,000& = 23| 10,000
OAMETZ A S EHl KA
2,800,000& * 14 2,800
202 o4dl 12,960 12,960 0
01 = LH o4 1l 12,960 12,960 0
OSeE dRFE Kl 12,960, 000& 12,960
405 TtHakH S| 142,000 125,000 17,000
01 AL EFH S 142,000 125,000 17,000
O waIIz 285 FIH(odl) e
3,000,000& = 24 6,000




R PPN = RSy
HE: HEE U RSN AY L
©el: FESN 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUESRID PEARIX DA (M2, S2 HEa)
6,000,000& = 624! 36,000
OUSHIAHNHES WERI AKX A
100,000,000& * 14 100,000
dEES ANAE 29 395,681 405,661 A 9,980
201 £B-2d| 349,681 311,661 38,020
02 =24l 349,681 311,661 38,020
OHEESANAH RINESR 30,236,000& 30,236
OFESHY HE3HE 236,340
—4M 527,000& = 133l » 12& 82,212
-2\ 332,000& * 23| » 123 7,968
-1M 327,000& = 223l « 12& 86,328
-BAXZ A (512K)
277,000& « 183l » 123 59,832
QUHAAAE ME3lHZ(2M)
332,000& » 13l « 123 3,984
ORHEEH EXAAE R
1,785,000& * 14 1,785
OBAZA BZENY SAL4E
33,736,000 * 14 33,736
OTHEBHBENY SNBLE
43,600,000& * 14 43,600
405 XHoHF S HI 46,000 94,000 A 48,000
01 HatE ESFH S 46,000 94,000 A 48,000
OYMNHIAE HUXEAIAE WX
46,000,000& * 14 46,000
OIS ESAIAE JNE(BX) 78,000 0 78,000
< 78,000
402 RI2EXt20| ™ 78,000 0 78,000
< 78,000
02 2IZI 2 AL EZ (OIS ) 78,000 0 78,000
OltsLsAAE A 78,000
-2 0[S Hl&k32] 20,000,000& 20,000
< 20,000
-2gH o212 10,000, 000& 10,000
< 10,000
-dgH st232 12,000, 000& 12,000
< 12,000
-tHAas AA22) 18,000, 000& 18,000
< 18,000
-3 da2e 18,000, 000& 18,000
< 18,000
OIS ESAIAE WA 1,020,000 0 1,020,000
401 A& HIZ 201 8] 1,020,000 0 1,020,000
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R PPN = RSy
HE: HEE U RSN AY L
©el: FESN 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 1,020,000 0 1,020,000
Ontg EsAd HEAS 1,020,000, 000& 1,020,000
FaFS2G 2 1,792,390 1,409,609 382,781
< 269,760
[ia 1,522,630
SN AH 29 1,257,630 981,209 276,421
201 LBt 759,190 478,889 280,301
01 At 22l 6,350 5,600 750
OsSEg2HHH LEet=ZHI 5,000,000 5,000
Osg2MdH I &dU=
50,000& = 12& 600
OZ&FEXeIIN RANE+E LII=H| 750
-gets 100,000& * 39 300
-or& 3t 150,000& * 3%H 450
02 =224l 752,840 473,289 279,551
OFESHY MEJHS(BH-WSHEFL) 7,200
—5Mbps 600,000& = 123 7,200
OSZAFEXMINI RB(HEO0IHNS MEg
HE sE0s82dsg) 423,720
-dg3dz 90,000& = 3213l » 12& 346,680
-HIINEE 20,000& = 3212l « 123 77,040
O2018E@ Al SHFEXMeII = 22,320
-dE3Hdz 100,000& * 312ld » 6 18,600
-HIIMNER 20,000& = 313l& « 63 3,720
OGH4EEHMINI FRNES(He0lHNE, M
2YHE SENSAEE) 148,100, 000& 148,100
OEAMEA SAFEH2INI FANE(MaE
HE UHTLHE) 33,000, 000& 33,000
OsSg&HAH AlIAHE 7RXE2+ 67,200,000 67,200
OSHAMUEA SE2HEAH AIAE RXE
41,300,000& 41,300
OSEg2HNHME AIE&EH |AH 10,000,000 10,000
202 O4dl 6,480 4,320 2,160
01 = LH 4 1 6,480 4,320 2,160
OSE2HE FR=A o4l 6,480,000 6,480
207 1IN Lt 65.200 0 65,200
02 & AHIH I 65,200 0 65,200
OYRELZEYNH 7L 1,300,000& * 42 5,200
OZaSE2H SHAZEN 7
60,000,000& 60,000
307 gl2tol & 269,760 288,000 A 18,240
05 BIZHRI & 3 269,760 288,000 A 18,240
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R PPN = RSy
HE: HEE U RSN AY L
ool gyFERYL CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSEg2NEH 2UHERH A 4
2,810,000& » 8H » 12& 269,760
405 XHoHF S HI 157,000 210,000 A 53,000
01 AL ESFH S 157,000 210,000 A 53,000
OSEg2MEH 223 & Jis W 25 157,000
~SHRMME WRY BY IHAAY DA
= OH 61,000,000& * 14l 61,000
~SHUHME URY HY NSAAY 204
5,000,000& * 14 5,000
-HEAAX 25 A0 22,000,000& * 14 22,000
-HESRID AAXEHI(L3) 0K
14,000,000& * 14 14,000
-HER AR &I (L2-Poe) 0K
5,000,000& = 14 5,000
—AAAIAE 0K 50,000,000 =+ 14l 50,000
Z=S& W CCTV HAHAEY 269,760 230,400 39,360
< 269,760
307 glz2tol & 269,760 230,400 39,360
< 269,760
05 RIZIRIE 3 269,760 230,400 39,360
OxXS&uCCTV 2LIHZE f 89
269,760,000 269,760
< 269,760
OFM JAFEXCINI 25 265,000 198,000 67,000
401 Al HIZ 201 I 265,000 198,000 67,000
01 A& 8l 265,000 198,000 67,000
Odaotdg JAFEXM2II *=
150,000, 000& 150,000
Ok JA4FEXeII WA 115,000
-AEHSE=It0 et WA 115,000, 000& 115,000
sE0ts ot™E g 23t 272,223 466,248 A 194,025
< 81,667
[ia 190,556
=sZE0ts &g 235t 272,223 466,248 A 194,025
= 81,667
s 190,556
otM st sEDS ¢Sl 272,223 272,223 0
< 81,667
[ia 190,556
401 AIEHI L 201 272,223 272,223 0
< 81,667
s 190,556
01 A& HI 272,223 272,223 0
Os&0S2td & CCTVE Xl 272,223,000 272,223
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R PPN = RSy
Yy =E0I2 9NEZ L
el =sZ=E0ts &g 25 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 87,667
s 190,556
AL (XX A D) 58,118,718 56,570,228 1,548,490
= 158,834
< 4,950
s 57,954,934
ol 2| (XX & & ) 57,738,949 56,191,212 1,547,737
=2 158,834
< 4,950
s 57,575,165
SRR =Y HEAHHI 54,034,918 52,884,023 1,150,895
101 1A Hl 41,438,571 40,814,237 624,334
01 2= 37,511,433 36,757,144 754,289
Ok 1=/ 25,535,577
-ERE(AE) 92,828,160& * 1H 92,829
42 (¢ 8) 85,881,851& » 3H 257,646
-53 (¢ &) 69,414,350& * 37H 2,568,331
624 (55E)
3,885,880& * 178 » 12& 8,300,240
-I24E(1588)
2,987,100& = 197 » 128 7,061,505
szag(75)
2,090,900& = 167 » 12& 4,190,164
9= ad(558) 1,726,350@ * 86Y * 12¥€ 1,781,594
-2 (AE) 77,489,000 » 29H 154,978
X EAH(1988) 3,264,430& * 259 * 12& 979,329
~A AN (145 8) 3,103,350& » 4% » 128 148,961
OFSE=Ee=y 22,616,773,000& * 40% * 1/6 1,507,785
O&FZEltutza 679,200
-25E 0l & 130,000& = 226 » 12& 352,560
203 ~243 0| & 110,000& » 77 128 101,640
-15E~204 01 & 80,000& * 4794 » 12& 45,120
-1089~154 01 &f 60,000& = 1349 » 123 96,480
-54E~10E 0| & 50,000& * 139¥ = 12& 83,400
OYuE X+ 350,000, 000& 350,000
Ozelges¢ 15,103
-532(308 8)
4,661,120& » 3 = 128 * 9% 15,103
OAZA22Y 2,490,847
5= (&) 13,3303 * 58 * 30AI2+ » 128 23,994
-6= (& E)
11,3703 = 1788 = 30AI2H » 123 728,590
72 (&)
10,2703 = 20298 = 30AI2H » 12& 746,835
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SN XD
M HEe AR (NXBH D)
Sl ol 2yl (X8I D) (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
EETP=))
9,220& * 170 = 30AI2t = 128 564,264
92 (&%)
8,330& * 106% = 30AI2t = 128 317,873
XS AHR1B =0l 4)
10,7153 = 13% = 30AI2t = 128 50,147
-XI £ AH(20& S0l 5t)
10,0403 = 12% = 30AI2t = 128 43,373
- A 10,9523 = 49 * 30AI2 ~ 128 15,771
oHzTeA+Y 343,926
ST (305E)
4,511,933 = 2 « 128 » 4.1% 4,440
634 (285E)
4,002,740 + 959 12 » 4.1% 187,089
7382 (2158)
3,345,500& * 659 » 128 » 4.1% 106,992
834 (2058)
2,963,200% * 5& » 128 » 4.1% 7,290
-NEZAH255 2)
3,682,109% + 208  12& » 4.1% 36,232
S PAH(4E )
3,825,646% * 1& = 128 » 4.1% 1,883
Ot=E=¢ 588,000
-bi = Xt 40,0003 = 500& = 12 240,000
-J| Et 20,000& = 1,000 = 123 240,000
Sl EHBTHE Ola)
100,000& » 90 = 12E 108,000
SPUELTE LS
463,990 = 100 = 42| 185,596
ofIgaRLY 63,600
-RIEES2R2(Z3) 60,0008 * 20¥ » 12& 14,400
-REE22R(83) 50,0008 * 50¥ * 12& 30,000
-REES2R(EE) 40,0003 = 40 +123 19,200
OS+g2+g 187,800
—QIAt /= E 66,000
Ny s +g
50,000& = 10¥ = 128 6,000
OIAtWME =% 500,000& = 108 = 128 60,000
QR 79,800
=SSR 250,000& = 189 = 12& 54,000
= 250,000& = 5% = 12& 156,000
- 2As A4 50,000& = 18 = 12& 10,800
—HRUR Y 80,000 = 4% = 12& 3,840
“desg 40,000 * 2% = 128 960
-MAB2A_=+=2 3,100,000 * 1€ * 123 37,200
OS+x2+d 297,120
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A R EE D
HM: HYM2HAY| (NS D)
Crol: e 2oyl (RIS o) CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-0lAHAR 30,000 = 55 * 12& 19,800
-APA =S 20,000& = 3% » 128 720
-SH8HE 224 70,000 = 190  12&€ 159,600
-9l A= & 7,800
- 532 80,000& » 3¥ x 12& 2,880
=1 60,000& = 1€ = 12& 720
- 72 0|6t 50,000& » 7 = 12& 4,200
A EXNYERE 109,200
ASI S X SR 70,000& = 100¥ = 128 84,000
AN EXX2BSIoHAS
30,000& » 704 = 12& 25,200
OJlsedegxd 220,680
JlsdeEsY 143,640
52 50,000 » 204 = 12& 12,000
6272 30,0008 * 22098 * 128 79,200
- 82~92 20,000 * 150¥ » 12& 36,000
X &2 60,000& * 2% x 12& 1,440
Xl & A 50,000& = 25 * 12& 15,000
-AAS Jpa 2 70,800
- Jl = A 50,000& * 4% = 128 2,400
S IJlsE - JIA 30,000 = 150H * 128 54,000
- A DAL 20,000& = 60Y * 12& 14,400
-AAsSxSE L H| 3,840
2 & 10,000& = 129 = 128 1,440
2 20,0008 = 10 = 12& 2,400
M AR 2L (3E 0] AH)
50,000 * 4 x 12& 2,400
ORHEIRA ¢ 50,000& * 20¥ * 12& 12,000
O=R0tsd < 800,000& * 25 x 12&€ 240,000
Ot 200,000& =~ 5% * 12& 12,000
OFHZ A 1,218,360
-l gk & 130,000& = 709¥  12& 1,106,040
-J|EFA 130,000& = 72% * 12& 112,320
OY&E S| 2,400,090
RN 22,616,773,000& = 1/12 = 120% 2,261,678
-J|EFA 1,384,117,000& * 1/12 * 120% 138,412
O9 e Abdl 1,163,749
-2 Ut
25,535,579,000& = 1/12 = 1/30 » 15 1,063,983
-J|E+A!
2,394,377,000& = 1/12 = 1/30 = 15& 99,766
02 JIEA 2 %= 3,927,138 4,057,093 N 129,955
OFJAZ 1,834,625
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AN XX HE D
M HE2G Y (KX E )
Crol: e 2oyl (RIS o) CERED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
-JleEs 1,384,117
- A2 (30E 01 &)
3,937,583& » 2% » 12& 94,502
- G AH(23E 0] &)
3,600,952& = 12 » 12& 518,538
- A& (1501 &)
3,056,557& * 8H » 12& 293,430
- =& (158018
2,487,742 » 16% » 128 477,647
224 1,384,117,000& * 1/6 * 50% 115,344
229 Itz 40,560
253 0 & 130,000& = 12% » 12& 18,720
- 20~25 0] et 110,000& = 5H = 12& 6,600
- 15~204 0] et 80,000& = 53 » 12& 4,800
- 10~154 0] &t 60,000& = 7H » 12& 5,040
- 5~10 0] @ 50,000 = 9% = 12& 5,400
s 48,000
PN 40,0003 = 309 = 12& 14,400
- JIEt 20,0003 = 90 ~ 123 21,600
- JIEH(3XHH O] &)
100,000& » 10 » 12&8 12,000
-NHASHEE+E
463,990 * 158 » 42| 27,840
-grE g 40,000 * 1 = 128 480
TSRy = 30,000& = 3H » 123 1,080
-ANZt 22 112,342
- A< (3001 &)
11,1803 » 2H = 30AI2H » 123 8,050
ZAH(23E 0] &)
10,4003 = 7H = 30AI2 » 123 26,208
- AE(15E 01 &)
9,450 * 9H * 30AI2F » 123 30,618
- &= (15018
8,790 * 15 = 30AI2t = 128 47,466
—pU2R4sy 104,862
ZAH(23E014) 83,2009 * 79 * 752 43,680
ZJ&E(1549014) 75,6008 * 8 * 752 45,360
=& (159012)  70,320& * 3Y » 75¢ 15,822
OIIH 1,279,073
-Jles 1,113,140
28D M (62)
4,112,885& + 18 » 123 49,355
ABHADII M (73)
4,083,335& * 18 » 123 49,001
- UBHA D HI(82)
3,702,101& = 3% » 128 133,276
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A R EE D
M HM2HAY| (XX SHA )
Crel: oleie oyl (U E D) (el @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
AMZFEE LD (OIE)
4,656,341& ~ 18  12& 55,877
AMZHEERHLDI R (CHE)
3,459,435& * 5 x 128 207,567
AZHEER R LD R (2H2)
2,857,770& = 3% x 12& 102,880
AZHSER R LD R (OFE)
2,044,380 * 21  12& 515,184
s 34,800
B ==\ 40,0008 * 30¥ * 12& 14,400
- JIEH 20,0008 = 60Y * 12& 14,400
- JIEH(3XHA 0] &)
100,000& = 5¥ « 128 6,000
-AEHEHIEX S
463,990& * 108 x 4= 18,560
A2 2R 112,573
Bt DM (63)
10,080& * 1Y = 30Al2t = 12& 3,629
ABFADH(7S)
9,002& * 1Y = 30Al2t » 12& 3,274
- ABATIHI(82)
8,751& = 3% x 30Al2t » 12& 9,452
CANZPAE R DA (OIS)
13,330& * 1Y = 30AI2t » 12& 4,799
L NS HIOIR (TH)
10,2703 = 5% = 30Al2t » 12& 18,486
ANZHHEER R DA (2HE)
9,220 * 3% x 30AI2t * 12& 9,958
CAZEEEH R DI H(0HE)
8,330& * 21 = 128 * 30Al2t 62,975
OF -t 334,940
-2 1,432,100 = 20¥ * 128 *x 80% 274,964
NEEE N
8,330& * 20¥ * 30AI2+ = 128 59,976
Og&3 220,000,000& 220,000
OlngydAdY S 258,500
-HRAHFE DHE= 30,500,000 30,500
-201 2 AISIHEY2 169,000,000 169,000
- E8E AMEBAEES 28,000,000 28,000
-NMIHEE 2 31,000,000 31,000
204 2R 4= A H| 1,912,140 1,823,040 89,100
01 MEZHR2LHAY| 82,800 82,800 0
o2 650,000 = 1€ = 12& 7,800
o2 400,000€ = 1™ » 12€ 4,800
O4= (D2 F) 400,000€ * 1€ * 12€ 4,800
O42 (XD 350,000& = 2% * 12& 8,400
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M HY2IAZH (KX D)
¢hel: 2| (XX A 0t (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o521 2&) 150,000& = 10 = 12& 18,000
Oz (EXII&) 100,000& = 28% » 12& 33,600
o2 (ExJ|2) 50,000& = 99 « 12& 5,400
02 A2l 1,428,900 1,345,800 83,100
Oz 500,000& = 1H » 123 6,000
ofzZ=+ 450,000& = 198 = 128 5,400
O4= (4 ¢) 400,000& = 3H » 123 14,400
o5z (&) 250,000& = 409 » 12& 120,000
O6= (&) 155,000& = 220 * 12& 409,200
O7= (&%) 140,000 » 255 * 12& 428,400
08,92 (&%) 125,000 » 285% * 12& 427,500
ONMEMNEA L OIHAZR
00,000& = 5% = 12& 18,000
03 EZY R 400,440 394,440 6,000
OZMEE 80,000& = 4H » 123 3,840
oN=egd 100,000& » 52 * 12& 62,400
O Fig=g=, 150,000& = 53 = 123 9,000
ovesggd 100,000& = 1H = 12& 1,200
oug st 50,000& = 540H » 123 324,000
303 &= 2,235,894 2,264,575 A 28,681
02 4&03 2,235,894 2,264,575 A 28,681
Od&0z3 2,235,893,960& 2,235,894
04 A3 RE=S 8,448,313 7,982,171 466, 142
01 A3 2E3 6,750,313 6,393,792 356,521
Oz 2E3 6,750,313
-H=RE3 3,661,480,000& 3,661,480
-B&83 1,762,249,000& 1,762,249
= SR === 1,253,354,000& 1,253,354
- E& S 73,230,000& 73,230
02 2UAHZ2ES 1,698,000 1,588,379 109,621
OI3ALZEES 1,698,000, 000& 1,698,000
=0z MZel2y| 3,495,697 3,053,567 442,130
101 @14 dl 3,495,697 3,053,567 442,130
03 RIHAZ 22+ 3,495,697 3,053,567 442,130
Oz2=E=+d ,sJ|H=2& 701,838
22 51,900& = 15% 365 284,153
-25Jtel= 570,900& = 159 » 12& 102,762
g4 284,153,000 / 128 = 400% 94,718
s 19,200
b < Xt 40,000& = 15Y » 12& 7,200
JIEt 20,0003 * 25%H » 12& 6,000
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HM: HYM2HAY| (NS D)
Crol: e 2oyl (RIS o) CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
- JIEH(3XHE 0] &h)
100,000& * 59 x 12& 6,000
-E=< 50,000 = 15 * 12& 9,000
-X&ASIOHAZ 50,000& + 59 « 12& 3,000
-HHZAH| 120,000& * 15Y = 12& 21,600
STy | 120,000& = 159 » 12& 21,600
-HE S| 600,000 = 15H * 23] 18,000
-JHI 2 =] 525,000& * 15Y *x 63 47,250
-NeReay
9,731& * 15Y = 20A[2F » 12& 35,032
AR assg 51,900& = 1Y * 20¥ 15,570
-Sgdg 77,8503 * 159 * 12& 14,013
-NEEHE XSG 463,990 * 5H * 43| 9,280
&9 150,000 = 15 * 23] 4,500
-SEHI(XA) 6,0008 * 12 » 30¢ 2,160
Od#AALEX(12) 1,323,113
-3 49,500& = 318 * 365 560,093
-2 EIH =2 495,000 * 31H * 12& 184,140
-2 560,093,000& / 12& x 400% 186,698
-JtE4 36,000
o < Xt 40,0003 * 25 128 12,000
- JIEt 20,000& = 65 * 12& 15,600
- JIEH(3AHA Ol &)
100,000& * 798 = 12& 8,400
-E =< 50,000 = 3H x 12& 1,800
-XASIOHAZ 50,000& = 15 * 12& 9,000
-HHZAH| 120,000 = 31 * 12€ 44,640
- EEXH| 120,000& = 31 * 12& 44,640
-HE S| 600,000 * 31¥H * 23] 37,200
-JHI 2 =] 505,000& * 31 * 63 93,930
-AZ2t 2R
9,281& * 31Y = 15A12t = 12& 51,788
B PNE A= EAy =y 49,500 = 31¥ * 18Y 27,621
-Sgdg 74,2503 * 31H * 12& 27,621
-NEEHEXSE 463,990 * 7H * 43| 12,992
-FEXNHSE 2= 150,000 * 2 x 13| 300
-Aldze] &g=E 150,000 * 31¥ * 13 4,650
Od#HAALEX(22) 1,135,446
A== 45,000& = 30¥ * 365 492,750
-2 I =2 405,000 * 30¥ * 128 145,800
|2 g 492,750,000& / 128 x 400% 164,250
-JIEx4 27,600
o < Xt 40,0003 * 259  12& 12,000




AN XX HE D
M HE2G Y (KX E )
¢hel: 2| (XX A 0t )
SN HH-S(BN) - MBAY - B il HlnE2
- JIEf 20,000& = 459 x 12& 10,800
- JIEFH(3REH 0l &)
100,000& » 4% 128 4,800
- A G A 120,000& » 30 » 128 43,200
-wE 2 A 120,000& = 30¥ » 12& 43,200
-Z 2 F 0| 600,000& = 30 = 23l 36,000
-JtH 2 &8I 425,000& = 30¥ * 63l 76,500
AR LY
8,438 * 30Y = 15AI2t = 128 45,566
B GPNES ==y 45,0003 = 309 » 20¢ 27,000
-5 67,5003 = 30 » 12& 24,300
-AHHEHEE+E 463,990 * 59 = 43| 9,280
O)SESE= 120,000, 000& 120,000
OnsYIAH S 214,300
-=20H3 AIZENREZ 139,900, 000& 139,900
-NEEEE ABUNRYE2 47,900,000& 47,900
-SMHHEE R 26,500,000& 26,500
OFLAERNETAMN E20S 0l 1,000, 000& 1,000
QIHA2IHI(IIBRHSEMNPRE) 38,684 35,599 3,085
= 38,684
101 @124 dl 38,684 35,599 3,085
= 38,684
01 2 38,684 35,599 3,085
OIS HSEARXA 38,684,000 38,684
= 38,684
QIARAHI (HAELSAR) 4,650 8,023 A3,373
= 4,650
101 1A dl 4,650 8,023 A3,373
= 4,650
01 2= 4,650 8,023 A3,373
OHHELSAMRXA 4,650,000 4,650
= 4,650
ol 2yl (2015E SHE SXAEs 75) 15,000 0 15,000
= 10,500
= 450
[ia 4,050
101 @14 Hl 15,000 0 15,000
= 10,500
= 450
i 4,050
01 2= 15,000 0 15,000
OS2y (20158 SHUE =X s 715)
15,000, 000& 15,000
= 10,500
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R PPN = RSy
M HHE2HAH (KX H D)
¢l JI23HI (XX E 1)

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
-SAMI(EH &€ E8)

200,000 = 4CH = 33 2,400
-FAX 120,000 = 700 = 33 2,520

02 332494l 123,544 123,544 0
O222=2 % JMAMd(fEH23) 118,800,000 118,800
O#HFYEH FAEE=HI 4,744
-CIIs A1 1,300,000& * 360H * 5% 2,340
-2l E 4,000,000& * 14CH * 2% 1,120
-= AHD| 15,000,000& = 408 = 2% 1,200
-FAX 600,000& = 7CH * 2% 84

202 04 b 4,800 4,800 0

01 2LHOHI 4,800 4,800 0
O#HF=EXN= LdRFE b 2,400,000& 2,400
OXNX&#HE N} LRF=X ¢l 2,400,000 2,400

203 2P EF | 122,795 121,970 825

NEEECEEES 92,400 92,400 0
Ooz2% 4,400,000& * 12& 52,800
Oz 3,025,000& = 12& 36,300
OH¥y=sX =& 275,000& » 12& 3,300

02 HRJIMPR=XY 25,355 405
OXJ AR &AH 25,355
-100< Nk Xl 80,000& * 100H 8,000
-101~300 Mt X 60,000& * 2004 12,000
-301Y~600 Nt X 45,000& * 1199 5,355

04 ENSIHRE=XY 5,040 420
EANSIISRFXN 5,040
-30Y 0l &t 400,000& = 12& 4,800
30 = OS2 5,000& * 4% * 12& 240
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